
Fresnelovy amplitudy

• Pro odražené světlo

rp =
n2 cos ϕ1 − n1 cos ϕ2

n2 cos ϕ1 + n1 cos ϕ2

rs =
n1 cos ϕ1 − n2 cos ϕ2

n1 cos ϕ1 + n2 cos ϕ2

• Pro lomené světlo

tp =
2n1 cos ϕ1

n2 cos ϕ1 + n1 cos ϕ2

ts =
2n1 cos ϕ1

n1 cos ϕ1 + n2 cos ϕ2

Odraznost

Rp = r2
p

Rs = r2
s

2R = Rp + Rs

Propustnost

Tp =
n2 cos ϕ2

n1 cos ϕ1

t2p

Ts =
n2 cos ϕ2

n1 cos ϕ1

t2s

2T = Tp + Ts

Snellův zákon lomu

ϕ2 = arcsin

(

sinϕ1

n2

n1

)

p - v rovině dopadu

s - kolmo k rovině dopadu

ϕ1 - úhel dopadu

ϕ2 - úhel lomu

R =
1

2

[

(

n2 cos ϕ1 − n1 cos ϕ2

n2 cos ϕ1 + n1 cos ϕ2

)2

+

(

n1 cos ϕ1 − n2 cos ϕ2

n1 cos ϕ1 + n2 cos ϕ2

)2
]

T =
1

2

n2 cos ϕ2

n1 cos ϕ1

[

(

2n1 cos ϕ1

n2 cos ϕ1 + n1 cos ϕ2

)2

+

(

2n1 cos ϕ1

n1 cos ϕ1 + n2 cos ϕ2

)2
]

cos ϕ2 =

√

1 −

(

sin ϕ1

n2

n1

)2

1 = R + T


